ViE{BVEIS VIR

RIS B IR A 7

Jiax Industrial Co.,ltd

ADD: Floor 2,Buliding A,N0.8 Shizhai Rd JinXia ChangAn,DongGuan,523852, CHINA
Tel: 86-769 8507 4226 Mobile:86-13649865720

Wetchat/WhatApp: 86-13649865720

E-mail: info@jiaxinmp.com

Http// www. jiaxinmp.com

https//www.jiaxautoparts.com




Jiax Industrial Co.,Itd

ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA
Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

FAMERFELER

Oxygen Sensor Spacer List

JXSS001A-3 (38mm)

4

JXSS001B-3 (45mm)

{ﬁl

JXSS001C~4 (38mm)

B

JXSS001E-6 (45mm)

Fjumm -
JXSS001D-2 JXSS002 (55mm) JXSS003 (50mm) JXSS004 (45mm)
g?)
— o A0
l ﬂ O/ 7 4
[ — \ AN
3
JXSS005 (32mm) JXSS005B (35mm)
N %
‘\ - m
-
JXSS007

i

-0 C
JXSS008 (50mm) JXSS008B (3mm hole) JXSS009 JXSS026
JXSS020 JXSS021 JXSS025 JXSS061

(Mini Catalytic)

(Mini Catalytic)

(Mini Catalytic)

(big Catalytic)

==
= A

o U
JXSS028 JXSS046 JXSS060
@ o e Y
| \_/",“\ /
\%ﬁ ~
JXSS017B TXSS043 (34mm ( JXSS03B (43mm) JXSS060B

M18 x 1.5toM12 x 1.25




ARERBHRE TR

Oxygen Sensor Socket

Jiax Industrial Co.,Itd

ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA

Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

JXSS041A(3/8”22mm)

L

JXSS041B(1/2”22mm)

JXSS041C (3/8”22mm)

" 4

JXSS041D-36

QM

JXSS041E-L/S(1/2” )

JXSS041F ((3/8”22mm)

JXSS041G (M18X1. 5)

JXSS041-3 kit

r ‘M‘\

JXSS041-4 kit

JXSS041-5 kit

JXSS041-7 kit

S48 / Oxygen Sensor

e,
#'QE..‘

9

$

FAS 7 L
\

v S

234-4668 5149171A 234-4046 234-4251

234-4874 15717 234-4018 234-4012

)%

234-4215

234-4076

234-4078

126-73134

*THREMH HRERF «BISTE 7 e R

* Factory Direct Sales * Inventory * Complete Categories * OEM/ODM




JETE SR EERESL / Oil Filter Adapter

Jiax Industrial Co.,Itd

ADD:No.8 Shizhai Rd JinXia ChangAn,DongGuan

Emailiinfo@jiaxinmp.com Tel:86-136 4986 5720

>

=¥

PN D oD PN D oD PN D oD
JXSSO11A |1/2-28 3/4-16 5/4-16 JXSS016D1 |5/8-24 1/2-28
JXSSO11B |1/2-28 13/16-16 JXSSO015A |5/8-24 13/16-16 JXSS016D2 |5/8-24 1/2-20
3/4ANPT
JXSS011C |1/2-28 3/4ANPT JXSS016D3 |5/8-24 M14X1
JXSSO11E |5/8-24 3/4-16 5/4-16 JXSS016D4 |5/8-24 M14X1. 5
JXSSO11F |5/8-24 13/16-16 JXSS015B |1/2-28 13/16-16 JXSS016D5 |5/8-24 M14X1L
3/4ANPT
JXSS011G |5/8-24 3/4NPT
PN D oD PN D oD PN D oD
JXSS016A |1/2-28 3/4-16 JXSS017C |1/2-28 3/4-16 JXSSO16E1 |1/2-28 3/4-16
JXSS016B |1/2-28 13/16-16 JXSS017D |5/8-24 13/16-16 JXSSO16E2 |1/2-28 13/16
JXSS016B |1/2-28 3/4NPT JXSSO016E3 |5/8-24 13/16
PN D oD PN D oD PN D oD
JXSS017A |1/2-28 3/4-16 JXSS027A |1/2-28 5/8 x 24 JXSS027B  |1/2-28 5/8 x 24
’ | TV
n mew | | TR SR
TXOP095C | 97 1/2-2845/8-24 JXOPO95E 76mm or 12mm JXOPO95F ﬁommﬂssedAirFi“fr
anual Tvpe
cg Hit
f8dd 4
PN Adaptors PN Fuel filter kit PN 50MM Black Cleanable
Fuel Filter High FLOW
JXOP102 1/4, 3/8, 1/2, 5/8 JXOP108 Full set and half set JXOP093  |100 Micron




¥l | Adapter

Jiax Industrial Co.,Itd

ADD:No.8 Shizhai Rd JinXia ChangAn,DongGuan
Emailiinfo@jiaxinmp.com Tel:86-136 4986 5720

022 AN TO NPT STRAIGHT

022B AN male to o ring port 022C Flare union adapter

PN AN NPT PN AN AN o ring| |PN AN AN
AN3-1/16 AN3 1/16” AN3-AN3  |AN3 AN3 AN3-AN3  |AN3 AN3
AN3-1/8 AN3 1/8” AN4-AN4  |AN4 AN4 AN4-AN4  |AN4 AN4
AN3-1/4 AN3 1/4” ANG-ANG6 AN6 AN6 AN6-AN6 ANG AN6
AN4-1/16 AN4 1/16” ANS-ANS8 AN8 AN8 AN8-ANS ANS ANS
AN4-1/8 AN4 1/8” AN10-AN10 |AN10 AN10 AN10—-AN10 [AN10 AN10
AN4-1/4 AN4 1/4” AN12-AN12 |AN12 AN12 AN12—-AN12 [AN12 AN12
AN4-3/8 AN4 3/8” AN16-AN16 |AN16 AN16 AN16—-AN16 [AN16 AN16
AN6-1/8 AN6 1/8” AN20-AN20 |AN20 AN20 AN20—-AN20 [AN20 AN20
AN6-1/4 AN6 1/4” OANS-AN6  [ANG6 ANS

AN6-3/8 AN6 3/8” OANT0-AN8 [ANS8 AN10

AN6-1/2 AN6 1/2” AN10-M18 |AN10 M18X1.5

AN6-3/4 AN6 3/4”

AN8-1/8 ANS 1/8”

AN8-1/4 ANS 1/4” 022E STRAIGHT Bulkhead Fitting
AN8-3/8 AN8 3/8” PN AN AN
AN8-1/2 ANS 1/2” AN3-AN3  |AN3 AN3
AN8-3/4 ANS 3/47 022D AN male to NPS AN4-AN4  |AN4 AN4
AN10-3/4 AN10 3/4” PN AN NPS AN6-AN6  |ANG AN6
AN10-3/8 AN10 3/8” AN6-1/4NPS |AN6 1/4NPS ANS-ANS  |ANS ANS
AN10-1/2 AN10 1/2” AN8-1/4NPS |ANS 1/4NPS AN10-AN10 [AN10 AN10
AN10-5/8 AN10 5/8-24 AN12-AN12 [AN12 AN12
AN12-1/2 AN12 1/2” AN16-AN16 [AN16 AN16
AN12-3/4 AN12 3/47 AN20-AN20 [AN20 AN20

> 050 female to male reducer
PN Female Male
057 AN MALE TO AN MAEL 1/8NPT PORT AN8-ANG AN8 AN6
PN AN Port AN10-AN6  |AN10 ANG 053 AN MALE TO HOSE
AN3-1/8NPT AN3 1/8NPT AN10-AN8  |AN10 AN8 PN AN HOSE
AN4-1/8NPT AN4 1/8NPT AN12-AN6  |AN12 ANG AN6-3/8  |ANG 3/8
ANG6-1/8NPT AN6 1/8NPT AN12-AN8  |AN12 AN8 AN6-5/16 |AN6 5/16
ANS-1/8NPT AN8 1/8NPT AN12-AN10 |AN12 AN10 AN8-3/8  |AN8 3/8
AN10-1/8NPT  |AN10 1/8NPT AN8-5/16 |AN8 5/16
AN12-1/8NPT  [AN12 1/8NPT




Y3k / Adapter

062 an female to an male reducer

063 aluminum Weld on female

030 female bung

PN femal male PN THREAD MATERTAL PN THREAD MATERTAL
62-AN4-AN3 AN4 AN3 063-AN3 AN3 AL. SS. ST 030-1/4 1/4NPT AL. SS. ST
62-AN6-AN3 AN6 AN3 063-AN4 AN4 AL. SS. ST 030-1/2 1/2NPT AL. SS. ST
062-AN6-AN4 AN6 AN4 063-AN6 ANG6 AL. SS. ST 030-3/8 3/8NPT AL. SS. ST
062-AN8-ANG ANS AN6 063-AN8 AN8 AL. SS. ST 030-1/8 1/8NPT AL. SS. ST
062-AN10-AN6  |AN10 AN6 063-AN10 AN10 AL. SS. ST 030-3/4 3/ANPT AL. SS. ST
062-AN10-AN8  |AN10 ANS 063-AN12 AN12 AL. SS. ST 030-M10 M10X1.0 AL. SS. ST
062-AN12-AN8 |AN12 ANS 063-AN16 AN16 AL. SS. ST 030-M12 M12X1.5 AL. SS. ST
062-AN12-AN10 |AN12 AN10 063-M10X1.0 |M10X1.0 AL. SS. ST 030-M14 M14.1.5 AL. SS. ST
062-AN16-AN12 |AN16 AN12 063-M12X1.5 |M12X1.5 AL. SS. ST 030-M16 M16X1.5 AL. SS. ST
063-M14.1.5 |M14.1.5 AL. SS. ST 030-M18 M18X1.5 AL. SS. ST
©) an
N\ = ¢ AN bt
S -~ ﬁ" e
030B female bung 030C Male Plug Fitting 032 Male Weld On Bung
PN THREAD MATERTAL PN THREAD MATERTAL PN THREAD MATERTAL
030B-1/4 1/4ANPT AL. SS. ST 030C-1/4 1/4ANPT AL. SS. ST 032-AN3 AN3 AL. SS. ST
030B-1/2 1/2NPT AL. SS. ST 030C-1/2 1/2NPT AL. SS. ST 032-AN4 AN4 AL. SS. ST
030B-3/8 3/8NPT AL. SS. ST 030C-3/8 3/8NPT AL. SS. ST 032-AN6 AN6 AL. SS. ST
030B-1/8 1/8NPT AL. SS. ST 030C-1/8 1/8NPT AL. SS. ST 032-AN8 AN8 AL. SS. ST
030B-3/4 3/ANPT AL. SS. ST 030C-3/4 3/ANPT AL. SS. ST 032-AN10 AN10 AL. SS. ST
030B-M10 M10X1.0 AL. SS. ST 030C-M10 M10X1.0 AL. SS. ST 032-AN12 AN12 AL. SS. ST
030B-M12 M12X1.5 AL. SS. ST 030C-M12 M12X1.5 AL. SS. ST 032-AN16 AN16 AL. SS. ST
030B-M14 M14.1.5 AL. SS. ST 030C-M14 M14.1.5 AL. SS. ST 032-AN20 AN20 AL. SS. ST
030B-M16 M16X1.5 AL. SS. ST 030C-M16 M16X1.5 AL. SS. ST 032-AN22 AN22 AL. SS. ST
030B-M18 M18X1.5 AL. SS. ST 030C-M18 M18X1.5 AL. SS. ST
065 oil cooler adaptor straight 068 AN flare plug O RING SEAL 068B AN flare plug O RING SEAL
PN THREAD THREAD PN THREAD Materail PN THREAD Materail
AN4-M22X1.5 AN4 M22X1. 5 068B-AN4 AN4 AL 068B-AN4 AN4 AL
AN6-M22X1.5 AN6 M22X1. 5 068B-ANG6 ANG AL 068B-AN6 AN6 AL
AN8-M22X1.5 AN8 M22X1. 5 068B-AN8 ANS8 AL 068B-AN8 AN8 AL
AN10-M22X1.5 [AN10 M22X1. 5 068B-AN10 |AN10 AL 068B-AN10 |AN10 AL
AN12-M22X1.5 |AN12 M22X1. 5 068B-AN12  |AN12 AL 068B-AN12 [AN12 AL
AN16-M22X1.5 |AN16 M22X1. 5 068B-AN16  |AN16 AL 068B-AN16 |[AN16 AL




Y3k / Adapter

"
W

035 Fuel Cell Fitting

082 Brass Pipe Fitting

070 0il Drain Plug

PN THREAD MATERIAL PN Male Female PN THREAD Material
035-AN6 ANG6 AL 082A 1/2NPT 1/2NPT 070A M12X1.25 SS
035-AN8 AN8 AL 082B 1/ANPT 1/2NPT 070B M12X1.5 SS
035-AN10 AN10 AL 082C 1/4NPT 3/8NPT 070C M16X1.5 SS
035-AN12 AN12 AL 082D 1/8NPT 1/4NPT 070D M18X1.5 SS

Dty

055 Flare Bulkhead To Hose 067 Carburettor adapters 013 0il Pressure Sensor Adapter
PN THREAD Hose PN THREAD Hose PN Male Female
JXSS055 AN6 5/16 067-an6 AN6 7/8-20 013-M16 1/8NPT M16X1. 5
JXSS055B AN8 3/8 067-an8 ANS8 7/8-20 013-M12 1/8NPT M12X1.5
@
-~
014 cooling water temperature sensor 014B cool water temperature sensor 018 NPT to BSPT REDUCER
PN Male Female PN Male Female PN Male Female
JXSS014 M12 *1.5 3/8 NPT JXSS014B M12 *1.5 3/8 NPT JXSS018 1/8BSPT 1/8NPT
019 female to male 051 hydroboost spittie 6.0L Oil Pump IPR Valve Air Fitting
PN Male Female PN Male Male PN Male Materail
JXSS019 M12 *1.5 1/8NPT JXSS014B AN6 5/16-24 JXSS054 M22*1.5 ST
. T
— 3
' @
Race Fuel Rail Plug Valve MAMBA Turbo 0il Pan Air Intake Heater Boost Plug

PN Male Materail PN Male Male PN Male Female
JXSS066 M20 *1.5 SS JXSS069 AN10 MM18X1. 5 JXSS081 M22*1.5 1/8npt




Bl e/ Oil Straining Devices

Jiax Industrial Co.,Itd

ADD:No.8 Shizhai Rd JinXia ChangAn,DongGuan

Emailiinfo@jiaxinmp.com Tel:86-136 4986 5720

Y

YHO0O01
300ML Qil Catch Can with Air Filter

YHO002
Radiator Coolant Overflow Tank

KN )

-
35

=

YHOO01
0.75L Oil Catch Can with Air Filter

YHO004-2L
General Square Radiating Coolant
Overflow Tank

YHO002 4-1L
General Square Radiating Coolant
Overflow Tank

YHO005
BMW Oil catch can

YHO006
Universal 2-Port Oil Catch Can With
Baffle Petrol

YHO007
750ML BLUE RACING ENGINE OIL
CATCH TANK

YHO008
800ml Universal Radiator Coolant
Tank Overflow Reservoir

ANIO ANS ANG

YH009
50MM Black Cleanable Fuel Filter High
FLOW 100 Micron

JXOPO026
oil cooler adapter

¢
Wk
g _

JXOPO95F
Oil Separator Catch Reservoir Tank




KZEFRL/ Car antenna

Jiax Industrial Co.,Itd
ADD:No0.8 ShiZhai Rd JinXia ChangAn,DongGuan
Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

A

” 2 LS

JXOP023 & ANT001
Bullet Antenna

JXOP023-M & ANT001-M
Mirror furface bullet antenna

&

JXOP023B & ANT002
7" Rubber Radio Signal Antenna

L

/

JXOP023C & ANTO003
7" Short Antenna

|

JXOP023D & ANT004
Signal aluminum antenna

-
:
\ §
&
JXOP088 & ANTO05

Antenna Stubby for Holden

JXOP090 & ANT006
Rydonair 13" Radio Antenna Mast
Compatible with Jeep Wrangler

HH

ANTOO07
Telescopic bullet antenna

ANTO08
Shark fin antenna

ANTO10
Signal carbon fiber antenna

JXSS034
Antenna Adapter Base

JXSS031
rear spoiler




Jiax Industrial Co.,Itd
SIT¥EE B /tire valve

ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA

Email:inffo@jiaxinmp.com Tel:86-136 4986 5720
':Z'jS‘~

o EXRXY

JXGC02 (45mm) JXGCO03

b ©

JXGC04

JXGCO7 JXGCO8

iy

JXGC10 JXGC11
‘;!Iili E 4
JXGC13 JXGC14 JXGC15 JXGC16
3 ki | Wbl oT00e
g9 '\&%éa
JXGC17 JXGC18 JXGC19 JXGC20

Vell¥ %%

JXGC21 JXGC22 JXGC23 JXGC24

JXGC25 JXGC26 JXGC27 JXGC28
— goae
I %
J — gt

JXGC29 JXGC30 JXGC31




HEP43L/Shift knob

Jiax Industrial Co.,Itd
ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA

Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

JX0P034C&SK003
10cm, 15¢cm, 20cm, 26¢cm

¢ X

& ¥

M8*1.25 M10*1.5 M 10*1.25

I 1 1

JXOP034E & SK005

JX0P040 & SK006

JXOP083 & SKO008

JXOP034D & SK004
N

D

4

JXOP096 & SKO009

o

10cm, 15cm, 20cm

JXOP106 & SKO10 SK011
‘9‘»:! ‘lll 1Y %’
SK014A SK014B SK014C SK015
—
,:;l.. . ::—/ = (|
SK016 SKO017 SK018 SK019

SK022 (dust cover)

SK023 (dust cover)

SK024 (dust cover)

SK025

SK026

-,

‘v»‘"l"‘ N
e 0 _
(RS

JXOP006
(quick release device)

JX0P049
(quick release device)

JX0P024

Heightening 50mm




BRMZE/ Fuel Pump

Jiax Industrial Co.,Itd
ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA
Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

,j__ . O(MJ
10 % 5) Y,
’ - - . [
\; \ - I - g{/
\.h o 4 -
FRO04
FP0OO1 FP002 FP003
OE:EB229 E2068 E8213
OE:E2068 OE :HEP02A 0E:GSS340/41/42 EEPARIA
h g‘l G il
FRO05 FRO06 FROO7 FROO8
OE:16710-GET-013 (general) OE:1255902-S 1255901-S OE:892267A51
kB / Ignition Coil
1G001 1G002 16003 16004

OEM:90919-02248

OEM:27301-2B010

OEM:099700-101 099700~
102 30520-RNA-AO1

OEM:UF626 CM11116

N

N

N

e

1G008

036905715A 036905715C

1G005 1G006 16007
OEM:UF374 30521PWA003 | OE:12137562744, 1243757164 OE:UF499 2730126646 0E:90919-02258 90919~
30521PWASO1 CM111088723C 3, 12137594937 2730126640 5C1586 178829 C2003 90919-02252
1G009 16011 16013 16014
OE:12137594937 0221504470 OE:22448ED800 22448EDS80A | OE:221504100 12137551260 OE:FD498/T 1788366
0221504465 7701065086 12131712219 12131712223 1AMIC00003 1F2118100
1G015 1G016 16017 16018
OE:036905715E 036905100D | QE: 1WAZ12029AA, DG476, XWAZ | OE: 12137594937 0221504470 ) B
—-12029-AA, ZW4Z-12029-AB 0221504465 OF: 22448-6N015 224486N012




RAKITR BB RS 5

Start Stop Button

Cover Decorative

Jiax Industrial Co.,Itd

ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA
Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

&

JXOP137C (Gear type)

O&E

JXOP137D JXOP137E JXOP137F
0 |90
i
JXOP137H JXOP1371 JXOP137]J JXOP137K
GG ¢ o 209
88 X, G0
JXOP137L JXOP137M JXOP137N
7 HIEL8/ steering wheel lock
JXOP138A JXOP138B JXO0P138C JXOP138D
miY\/ trumpet
/ (“\?
1‘9‘?
JXOP117 JXOP130 JXOP136 JX0P141

it & B® /Pressur

e Release Valve

JXOP058 Universal
pressure relief valve

deflation valve

JXOP112 Adjustable 0-
140PST Fuel Pressure
Regulator Parts Kit

Pl |

JXOP020 Turbine controller
Double hand adjustable
turbine controller

P

JXSS045 Turbo—charging
controller




A4/ IDM Part

Jiax Industrial Co.,Itd

ADD:No.8 ShiZhai Rd JinXia ChangAn,DongGuan, CHINA

Email:inffo@jiaxinmp.com Tel:86-136 4986 5720

P -
P o

P oy o,
i . 3
(= = . o

JXOP037 (M6 Spacer)

' <
. .
s

DO

JX0P057 (Double gasket)

ARAL

JX0P019 (towing hook)

JXO0P025B (towing hook)

JXOP027 (an4, 6, 8, 10, 12)

SgpeEee

JX0P030 (an4, 6, 8, 10, 12)

gv

JX0P044

\“)\/‘W

JXOP069B (hood lock)

JXOP098 (60mm Mounting Clamp)

JX0P100(2”,2.57,3”,3.57,4”)

JXOP016 (60mm double hole
bracket)

JX0P125(27,2.57,3")




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	12
	13

